Orden de Operaciones (C)

Realice las operaciones en el orden correcto.

- 75,1 — (64,97 — (98,86 — 49,99 + 8,53)) + 85,21

[

2. 73,31 — 52,04 490,93 + 48,98 + 97,4 — 21, 88

(98]

. 87,54 —-31,74+40+46,73 — 36,99 468,18

491,41 — (32,3 +29,5) — (51,16 — (60,01 —24,44))

9,

- 37,32477,8+98,35— 58,39 — (58,86 +79,29)
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Orden de Operaciones (C) Answers

Realice las operaciones en el orden correcto.

- 75,1— (64,97 — (98,86 — 49,99 + 8,53)) + 85,21
= 152,74

[

N

. 73,31 —52,04 490,93 + 48,98 +97,4 — 21,88
= 236,7

W

. 87,54 —31,7+40+ 46,73 — 36,99 + 68, 18
— 173,76

4.91,41 — (32,3429,5) — (51,16 — (60,01 — 24,44))
= 14,02

W

. 37,32+77,8+98,35— 58,39 — (58,86 +79,29)
= 16,93
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